3.1 B= 33MHy

2 w-,}u,[u J\MNDA cd"ﬂSKHb DLy= SOKHW

N fomhls dommy = L—:E =660

m\‘fm1/lrlm

W;th L by oodicatid o the cantnd dhraoedld
=B ~imJ?= 32 HiHy,

N'/{MHz Vol (}/umnl]/\\ :—L%: 640 vea (}/ww»dﬁ

| N~ Jondlh canfrid drameds = M7 = 20 cantnd drmonels
?) fnall = ‘6%:/65 4 L,
640 6uo
660 0) g 0> o Tleo B Gy da> T U stz B Vg do
b) dhamdﬂmgﬂ: =z <9y PP . 10
(mfﬂloh‘) _:]—:5 (mfn&oh-) 1-7: 3 e 2 Cmfﬂgldn') E: 2 o A
<) dhrm-ljh,fd?@ﬂ—_ %255 .
[
7.2 N=i2aipar ( Coryos Pt
|D " 6 Czﬂ m?g) oy - L
Q =% (Co-dumd rusn nabe) . 25 = Wi -ack ca(h ‘f{‘j’}l
¢ = ﬁ
P (Rewse cliskime) i A=126°
R (Gt Radh ua) So:
o" = (14§ 2id o cain®) <>
A diskarie b olls)
< b Dll(l"'w'i-lfa'(.g)) <>
4 =2R co(30) =15 R
<= b1= dz{ iLJ-|0'Jﬂ'2)<'-7
S pred N e b 3N o 2aq= Ny
3.3 Q:%= BV (o2 b Jon sgomsdd)
L —i5de £ Pre _ i - oy
1 ’ T Lo A ¢ (R)
=1 izl
4 H 4 J;m+ LA 4]~ 60
@) m=4 _I‘.i_z.s.,lumtgn(éﬁf) m=3 EC-=.5,,\B=10L,D(H§W")
NP |.5'§
S st N= 7 Lo e
3
Q:\J—’s_-; = },S8
q=r-_{1 =6
C |
Lo 13.66d8 (Muo qu edhds?)
I td I£=15_560{6 (de'lt’m 1171«}&’)
3.‘1) m=3
dym
Ii(omm):‘“"“" = Pﬂ:‘lqu(T)
a) N=7
P <-oodBm
: R=1%0 m
Pana d =D qurmoo 1« -toodBon Lo a:
/ 1o e
N T S S N (g
R ATreW T xep X" ’ Pp; =BV = R - v R=621m
Pul-: IQ-B\I\/ X=E01“33'n (1,»

3. Mobile Communications Pagina 1

Tz T 53 s By



3.5 A =ofE @ c:i = A=0005E UzL':IJ:D
QoS> 606=B=0.57. byc=s 2 AzinE =y U=
Q) C=lo > AT:M,&E:) U=39q
d) (=203 A=11E> U=

2) C=loo =) AT: 80.9F > U=%09

3.6) m=ax0f fmoas

AL N-albs =39y Bt N-Glh = 98 €l N-Gln =4
C= 14 cz- %7 C = loo

B=Jv.

1 duonoh 4on b ”4“"-5;'01'30-«'"\ =D Ay T 26’(03 0. 1®
A > A 107 odda = 123E > A~4wcc/(u94 =123

M
= 3—"' = A
MA-H%MZ Mp o Xoo 247

B > A fon b = uc.t® ->,u,(m chda = b68

: y :
M= npaclid x NGl = ussey  Hp =B xeo 2.3 7

[ A,_I, ,{ma’/l_a’,\ R O0E=> ,U—,{q cfwa = 830

ML: W3 e MP:J,Z‘/-

[+ & _
3.7) Aﬂc'éy: 1300 ogn ol a) A'no =6y PR 3R"J_3I1—E: V3 pr 2 ouy k?ﬂnri/!ﬁb

2 F
?GIIW {}‘ﬂ A
b Mol "% = 342 2535 ) M=%‘—“":835uo
= "o M
R 4 ol u
8 6) V- pmnhho ™ (ﬂ\ammJl =— - 133,1
B_= 4ol B Nmes = —— = 6667 L/
.~ 4o Hy ermk+— By - . ¢
Drh=60k+‘7 C: 5;5,; = 95 3') Mﬂ'\nk: N’dmmu's 19 ol x N-ally = 3ouo
B= 27 ) Ar(ﬂc&ua=%‘1.1E
Ay =003 E By PeM=4T4m s x 2 gl z 2659 &

A @mied =(1-8) b, = 2 606E

3. Mobile Communications Pagina 2



3.9)

[= 18oonm, a) 9 chanmds
—ues _lod 7ok |
Va 545 - 497, Rouih™ 153 20 = 22.13K Iie/n
Rg = #50kkt/n luy K
\/7: Yoy x SKLE/D > 3.2 K bt /A Mate s X s 65TS
Lo Tim.m,sjg.fb '
32K
: X100 =[5 Tyont Slot 1M
[od 0{4“0\}1‘.{')& 225K st ola \/,A‘v' ,X-.__;K= UeTs
Totd = 15+65 +4e=126TS
126 <99 = FM‘I(;\MA-
Thomy ol Jm’m‘vm 2 qx10:= 30Te
“) = 3500 JA:PHZ 3,75){[0-3]3
N 20,16 s
H=l.5m‘m:?o‘h AMA =1L‘4"N~: |3||25E
B=2v.

budio (ver) © M= milio MU TS 4o Camd. = % 20.624 T5/ cueed

Tomen e gl L Camchigd

827 & 90 Comad

Pdu tdbdu 8227 g0 = AQWZHJE Camnp A’g#(’)1>A'muA )4“}‘ (,M'l\am 5
Tamss Do )ato /w{[w‘mfm 17

20 thapals + 0524 T5/dummd = 1658TS =2 Tinn20 TS Ly Vo > Fw‘w//

3. Mobile Communications Pagina 3



